. If the cost price is 96% of the selling

. The outermost solid cover or shell of

@SSC CET Group 56 Questlon Pa

What is an attribute in a relation ?

(A) A database column
(B) A database row

(C) A database constraint
(D) A database table

(E) Not attempted

price, then what is the Profit percent ?
(A) 4.17% (B) 5.17%

(C) 6.17% (D) 3.17%

(E) Not attempted

Haryana Govt. had declared which
among the following year as ‘The Year
of Industry and Employment’ ?

(A) 2012 o
(B) 2013 E“‘*"%#
(C) 2011 SR
(D) 2014

(E) Not attempted

the earth is known as
(A) Sima

(B) Sial

(C) Igneous

(D) Earth crust

(E) Not attempted

Anil introduce Rohit as the son of the
only brother of his father’s wife. How
is Rohit related to Anil ?

(B) Uncle
(D) Son

(A) Brother
(C) Cousin

(E) Not attempted

Pz

Per ¥ August 2023

AFE w7
(A) T ST FHemg L
(B) TH ST
(C) T STT=E Hiawz
(D) TH e ae
(E) JTmie

2. R 4 TeA s e 1 96% 2, AT
A AfaTa F= 8 7 (P "'gﬂxﬁ
) 4.17% (B) 5.17%

J'
(©) 6.17% (D) 3.17% "’“:”
(E) Toamfaa il

3. BT TR ¥ P § & e o @
T 3R IR %1 9 Oifve e e ?

(A) 2012
( (BY'2013
(C) 2011

(D) 2014
(E) T9THd

4. gt i gEG aEd 3@ W 91w
FHEAT ¢ |

(A) Hm

(B) Taama

(C) T

=
=

il

(=]

b

5. arfe Ufka w1 Tfea 3w e 6 geh
F THATH WIS & UA B T H HOA@ 2|
Afea aifre & e vor geftm @ 7

(A) Wi (B) =N
LAC) =T 9T (D)
() arwnfia

&k{{gﬂ zf @é}{j
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The water accumulated under the
ground surface in this manner

(A) Well (B) Canal

(C) Ground water (D) Spring

(E) Not attempted

With the help of which of the

following international organizations,

Haryana Community Forestry Project

was started ?

(A) World Bank

(B) European Commission

(C) South Asian Association for
Regional Cooperation (SAARC)

(D) None of these (3B

(E) Not attempted

Which Article in the Indian Constitution
is related to the Equal Justice and Free
Legal Aid ?

(A) Article 39A

(C) Article 39D
(E) Not attempted

(B) Article 39C
(D) Article 39B

Full form of RKVY is

(A) Rashtriya Krishi Vikas Yojana
(B) Rajya Krishi Vikas Yojana

(C) Rajya Kendra Vikas Yojana
(D) None of these

(E) Not attempted

Which function is used to free up
memory allocated by malloc(), calloc()

or realloc() 7
(A) clear() (B) reset()
(C) free() (D) deallocate()

(E) Not attempted

CG - CG23

6. aﬁﬂﬂﬁs%&hﬂawmﬂaaﬁﬂﬁﬁ

qrr &
(A) FAi (B) T&
PeRkiLEs (D) fam
(E) TS
7. TPafifea § & e swdsia g H
HER & ghamn angerfie At aiErE
I B 7
(A) fova ¥
(B) TOEA T
ug;muﬁmaﬁiﬁﬁmﬁﬂm
FAHTHIA (SAARC)
(D) s A ®IE TE
(E) aTwanfea
8. WWdg HAUW ® FH-H I TE
% g AR 3R g fafts gemar |
Hafqa g 7
i) 3TT8% 39A  (B) =93 39C
(C) =g 39D (D) HI=og 39B
(E) SATaTTHa

9. RKVY % foeam 9 2
M) T i fepra e
L (B) T4 Hfy faapma s
h\ﬁ (C) T g fara Asmn

(D) T W HIg Tl
(E) arsnfe

10. malloc(), calloc() AT realloc() GRT
e Al @1 e W@ & fog fey
G 1 I e s @ 7
(A) clear() (B) reset()
(C) free() (D) deallocate()

(E) svuafia


Guest
Rectangle


11.

12.

13.

14.

15.

RIDF was established in

(A) 1995- 1996 (B) 1992 - 1996
(C) 1993 -1995 (D) 1992 - 1993
(E) Not attempted

Which of the following is used to
manipulate data from a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)
(D) None of the above

(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.

(A) 252
(C) 201
(E) Not attempted

(D) 254

Which Article in the Indian Constitution
is related to the Abolition of
Untouchability ?

(A) Article 117

(B) Article 18

(C) Article 121

(D) Article 17

(E} Not attempted

was the longest serving
Governor of Haryana.

(A) Birendra Narayan Chakraborty
(B) Ranjit Singh Narula
(C) Jaisukh Lal Hathi
(D) Dharma Vira
(E) Not attempted

cG - CcG23

11. RIDF 7 wifug 3 |
(A) 1995-1996 (B) 1992 - 1996
_E) 1993 - 1995 (D) 1992 - 1993
(E) S
12. Wﬁﬂmw@aﬁﬂﬁ% :

S e 0 3 ferg fop S
) e fege st (DML
(B) TS T4l o (SQL)
(C) a1 aftfra o=+ (DDL)
(D) 39 o | 5 T8 2 g
n 14 x,g__ﬁ
(E) I Hg;g, l*:‘:” e

13. 450 28% + 280 =1 45% 1 HH T
)26 $1 o8

|

-{A) 252 (B) 356
(C) 201 (D) 254
(E)

14, RAT GRYUF 1 BH-TT TG
gl % I9e @ gl 8 7
(A) FT=Ig 117
(B) =08 18
(C) Fg=Pg 121

AD) TR 17

(E) 3Tmfea

Hard @ TsTE o |

) sz TR STshee

(B) Tofia fg e

(c) g T Eet

15.



Guest
Rectangle


| S

1.

19,

Full fu@ of NAIg is

oL —
(B) g:::;il icultural Insurance
€ gz;“’;;fl Arguments Institution

: (D) None of these

Pointing to a phntagmph, a man said
“I have no brother or sister but that,
man'’s father is my father’s son”.
Whose photograph wags it 7

(A) His son’s

(B) His father’s

(C) His own

(D) None of these

(E) Not attempted

Transformation of Aspirational Districts
Programme was announced by

(A) Atal Pension Yojana

(B) Pradhan Mantri Yojana

(C) NITI Aayog %ﬁ,}:ﬁ

(D) None of these S

(E) Not attempted

What is a stream in C Program ?
(A) A way of handling input/output
operations in 8 progj'am N
(B) A type of loop used in decision-

making structures
(C) A type of function 4
manipulate strings ¢
(D) A type of data structu?
store variables

(E) Not attempted

sed to

16.

18.

19.

cG - CG23

NAIS %1 faer &9 2
() T s St A

(©) e iz S A
(D) 3 & I 7
(E) 3rsanfé

3 w1, QU HE wié A wE T R g T
st & fren 3 e % @ € o R
format B 7 gz

(A) 7% A A

(B) 37 fuan =1

(C) IR T

(D) ZH & I3 AHI

(E) SFwaf

rewiaf Fen wrlma &1 T, I8
wEFA g Hifta e
(A) IS YIH e

(B) S9HE A=

tc) fifa smm

(D) 37 © H13 T
(E) Awarféa

CIm A Em T2 ?
{ﬁ}%mﬁwfwmﬁ
i 3919
(B) Fovia ) e s & S gy
W ATel TF TR H1 o
(C) @Tﬂqﬂﬂﬂ?m#ﬁmw
o1 9 = O SR w5

i_AD) TF TR 1 S1e §=1 1 Iqaiyn

W "R 1 foran s 2
(E) Fwniya
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What was the percentage increase
in the foreign exchange reserves in
1997 - 98 over 1993 - 94 ?

.EEEEE

FOREIGN EXCHANGE RESERVESOF A
COUNTRY(IN MILLION US $)

b

e L

1991-52 199293 199394 1994-95 1995-96 1996-97 1997-56 193899

bt

22.

(A) 150
(C) 620
(E) Not attempted

(B) 200
(D) 100

Which of the following is used to
define the structure of a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)

(D) None of the above

(E) Not attempted

Full form of IMRB is
(A) Indian Market Rural Business

(B) International Market Research
Bureau

(C) Indian Market Research Bureau
(D) None of these

(E) Not attempted

1093 — 94 ¥ 1997 — 98 F Tl fafae

20.
weR 3 yfeva sga = oft ?
[ FOREIGN EXCHANGE RE OF A
&000 COUNTRY|IN MILLION US $)
S000
L]
3000
2000
1000
g 19192 199293 '1.31_:;94 199465 1995.96 199697 195798 199659
& L)
(A) 150 B) 200 37,
%‘ij_ﬁ (C) 620 ' ) 100 ==
Sl (m) aroenfeE
21. e @) G @ wRATTE 0 % T

= § & frae swim R ST ® 7
(A) S AfgeE ©Es (DML)

e FEES W T (SQL)

- @) 21 M es (DDLY)
[D]rﬂémﬁﬁﬁéqﬁ
(E) JsEiHa

22. IMRB &1 f&em 9 8

(A) sfeTm wre & T

(B) 3etee " Tt =g
A dfe e ot =)

(D) 37 & =g T

(E) FrrriéE
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24.

Chief Justice of
Urtin 1913
(A) Sir Shadﬂa.l

(B) Dr. Sarup Singh,

(€) Chavdhary gy
(D) Sir Chotu Rgpy,

(E) Not attempteqg

National Agricultuml Co-operative

Marketing Fﬂderatinn (NAFED) was
established on o

(A) 2™ October 1985
e
(B) 2~ September 1958 g‘%%
(C) 2*October 1983 y
(D) 2™ October 1958
(E) Not attempted
Who was the founder of the Shunga
Dynasty ?
(A) Bimbisara (B) Agnimitra
(C}) Pushyamitra (D) Ajathashatru
(E} Not attempted

A cyclist covers a distance of 750 m
in 2 min. 30 sec., what is the Speed
in km/hr of the cyclist ?

(4) 12 km/hr (B) 17 km/hr

(C) 18 km/hr (D) 13 km/hr

(E) Not attempted

Which of the following modes is used
for opening a file for appending ?

(A) ¢ (B) ‘@

© % (D) W

[E] Not attempted

CG - CG23

23. 39 A F 1913 ¥ Yoy 3= =@d &
TEeN M G =i 3 =g § fga
fora

AK) BT e
(B) 2. @&y fir
() =t defrena
S (D) WO T
B (g) st

24. T Ff gEwdl faqum HeigH
(NAFED) =t Tifte femar T

48) 2 F@ET 1985
(B) 2 fae=m 1958
(C} 2 JAFRE 1983
\_IP] 2 TS 1958
(E) 3rwanfea
25. Y[ 99 T TEATIh i 41 ?
(a) fafemm (B) #fmfi=
AC) Jeaf (D) Ty
(E) 3Tsnfea

26. TF WEHA Gal UF 750 m i gt =

2 fime 30 %2 & T = a1 2, TS

Haw 1 1fd km/hr § 718 7 Zj%;r 5"%
(A) 12km/hr  (B) 17 km/hr

tAC) 18 km/hr (D) 13 km/hr
(E) srs=nfia

27. WS F R Y FR @ew F e fiey
H 3 fore Wis &1 3wt R s @ 7

(A v “B) W
) % (D) W’
(E) srsnfm
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28. Which type of join returns only the

rows that have matching values in
both table ? :

(A) Outer join '1[94& join

(C) Inner join (D) Right join
(E) Not attempted

29, Full form of MUDRA is

(A) Micro Units and Development
Refinance Agency Ltd.

(B) Micro Units and Development
Reference Agency

(C) Mantri Union Development
Refinance Agency Ltd.

(D) Mantri Union Development
Reference Agency

(E) Not attempted

30. Which planet is known as the “Watery
Planet” ?
(A) Earth (B) Mars
(C) Jupiter

(D) Mercury

(E) Not attempted IEJ s

Which of the following pairs is ;lliﬁfifli;

correctly matched ?

(A) National Dairy Research Institute :
Manesar

(B) YMCA University of Science and
Technology : Faridabad

(C) Lingaya’s University : Hisar

(D) National Brain Research Centre :
Hisar

(E) Not attempted

31.

layer lies below the crust.

(B) Rocks
(D) None of these

32.
(A) Core
(C) Mantle
(E) Not attempted

‘%,
4

29. MUDRA 1 foiega ®4 2

(AA) WIS IfgE 1g TaemHe RemArH
et fefiee
@;ﬁmﬂ%ﬂﬁ@ﬁg%ﬁaﬁzﬁm
(©) T e e feTEr T
ferfiree
3%‘*2?: (D) W gfrem e 16 Tl

B (g st
30. frg TR &1 “Selg TE” FEd & 7

&) gt (B) WA
() ge=fa (D) 94
(E) arsEntéa

31. Fefafes 8 4 - am gfea @ 2
X (A) T SR SITHYH TRYW : HRE

\ By arsumsie gfafife e g g
ST : HamETg

() férman gfyafdife : feam
X (D) T AT ITHH &3 : famm

(E) T
32. T R % Y B 2
(A) P (B) =g
LAC) W (D) 1 & ¥
(E)
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3.

.

. The regulated and controlled distribution

is related tq ul:lth& Indian Constitution
village Fﬂnchayat;ginimtion of the
(A) Article 39

(C) Article 44 [[E] Article 45

(E) Not attempteg ) Article 40

(A) strepy()

(C) strrev() oy
(E) Not attempteq
]fa:b=5:gandb:
finda:b:c.
(A) 36:20:
(B) 63 : 20 :
(C) 20: 63 : 36
(D) 20: 36 : 63
(E) Not attempted

C=4:7, then

63
36

Recently, Jahanara Bagh Stadium in

Jhajjar district of Haryana has been

renamed as

(A) Hemchandra Vikramaditya
Stadium

(B) Narendra Modi Stadium

(C) Maharishi Dayanand Saraswati
Stadium

(D) Rao Tula Ram Stadium
(E) Not attempted

of essential goods among peo_ple means
(A) National Institute of Agricultural

Marketi o :
(B) Source oli}g.ﬂsgnmﬂturﬂl Credit in India
[C) Public Distribution System
(D) National Cooperative
Development Corporationt

[E) Not attempted

33. mmﬁﬁ“ﬂﬁﬁiﬁm
EIRI % HTEA § Hafi 7

%EE' (A) IT=BE 39

B (o) o=t 41

(E) it

C v # & wrdfiem ¥ fau fe

TGSl BRI 61 IuEnT AT Wl 2 7

(A) strepy() (B) strlen()

(C) strrev() (D) streat()

(E) o

I a:b=5:93Mb:c=4:7

Ig:b:c'ﬂmﬁ| 7 :q

(A) 36:20: 63 =/

(B) 63 : 20 : 36 m

(C) 20:63:36

\_{P) 20:36:63

(E) 319y

36. W & #, BN % weer faet & FEAT
AN RIETW FI 99 geaat
Teram T 2|
(B) g wie wfem
(C) WeRfY gare wwadt Lfemm
(D) T& qen T Rfgam
(E) g

37. @nii § sevas Fga % Fafim sin
Fafa faamn & o soer 2
(A) TS iy famvm weem
(B) W ¥ ¥ /9 Hid

Uﬁaﬁ-rﬁﬁrﬁaiﬁawrwnﬁﬁ
(D) TS wEeht fasm Siuiym
(E) v

35.

—
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38. "Mountbatten Plan” regarding the

partition of India was officially declared
on

(A) 10 June 1947

(B) 03 July 1947

(C) 03 June 1947 e E
AL

(D) 04 June 1947 [;:ﬁﬁ,,

(E) Not attempted

39. Which of the following was the theme
State of Haryana's famous Surajkund

International Crafts Mela, 2022 ?
(A} Punjab

(B) Jammu and Kashmir

(C) Himachal Pradesh

(D) Uttarakhand

(E} Not attempted

40. A deposition of sand which results in

a long, narrow embankment in the
sea near the coast is called

(A) Lagoon (B) Latitude

(C) Beach (D) Sand bar

(E) Not attempted

Complete the following Analogy.
Cardiology: Heart:: Mycology :

(A) Shells (B) Skull

(C) Fungi (D) Diseases
(E) Not attempted

41.

The two general categories of crop
insurance are called
(A) Crop-price insurance and crop
insurance
(B) Crop price insurance and crop
revenue insurance
(C) Crop-yield insurance and crop
revenue insurance
(D) None of the above

(E) Not attempted

42.

38

4

-10-

cG - CG23

iz A < v & R
" gdfa oft, @ anfirie e _—

&1 TS|

(A) 10 91 1947

(B) 03 TS 1947

03 S 1947
(D) 04 S 1947
(E) 3T

a0, Fraffiaa & H-a1 ghamn & WEG

e TR FHIaeE Hell, 2022
FETE A7

40. Ya @1 w9 forad qfwm wWEY U e,

T FFI Tg % W W S A g,
g . e g :
(B) F&T
(C) &5 W (D) el ot
(E) Ao
1. Fr=feafen gasaa g $ifte
i : 82 WIghlata ;
(A) e (B) Wiug
LAC) S (D) T
(E)

42. e € Q'R St

————

HEadt

(A) e oo S 3N Es <y

(B et Hed T 3R e Troneg
(C) wuret Ieared A 3 et qroreg @i
(D) IF0a o | i 7

(&) 3ty

4

4"
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45.

46.

7.

Serves as a connecting link
between Himalayas and Haryana
plains.

(A) Aravalli hills

(B) Morni hills
(C) Mewat hills
(D) Tipra hills ;Elf;i’
(E) Not at#empted El*ﬁi &

Pradhan Mantri Jan Dhan Yojana
was launched on :

(A) 28" August 2016

(B) 28™ November 2014

(C) 28" August 2014

(D) 28* November 2016

(E) Not attempted

The largest planet of the solar system is
(A) Saturn (B) Uranus

(C) Jupiter (D) Neptune

(E) Not attempted

A, B and C started a business by
investing Rs. 1,20,000, Rs. 1,35,000
and Rs. 1,50,000 respectively. Find
the share of each out of an annual
profit of Rs. 56,700.

(A) 4:5:8

(B) 8:9:10

C) 5:6:3

(D) None of these

(E) Not attempted

First Mobile Court of Haryana was
set up at Mewat in

(A) 2003
(C) 2007
(E) Not attempted

(B) 2005
(D) 2000

-11-

Ly = Claia

_ Tewrem afk e & dedt ¥
CicRc i ]

(A) 3RTEE i ggifegi
(_AB) W Y wgifai
OREIGEIRIED

(D) feau 6 wmifEat

(E) TR

YU 9 O TS 1 3
w1 fomam )

(A) 28 3T 2016

(B) 28 F&& 2014

\_4€) 28 I 2014

(D) 28 &= 2016

43.

44,

(E) 19Tt
45, TR firey & g9d 991 78
() i (B) T
_AC) Feefa (D) Fv=
(E) vt
46. A, B3R CH%. 1,20,000, ®. 1,35,000
3R %. 1,50,000 waw: FEw @ @ o
FER & T arffs @19 €. 56,700 %
U a1 T | ek 1 309 T w6 |
(A) 4:5:8 Aw;’ 350 1
e 5.9 1w
Eﬁﬁuﬂl 8:9:10 .
BiS (0 5:6:3 ,@’
(D) FH | HIg T8I
(E) 3t
47. Ha@H § g it geeh
TraEs e enfid fea m |
(A) 2003 (B) 2005
\_{€) 2007 (D) 2000
(E) 3Tféa
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48, If \/]5= 3.88 then find the value of "E :

(A) 5.60
(C) 1.2933
(E) Not attempted

(B) 7.80
(D) 13.97

49, IfD =4 and COVER = 63, then

BASIS = ?
(A) 50 (B) 54 ﬁ; E
(C) 55 D) 49 3

(E) Not attempted

50. In which year, British Gﬂvc:rnmeﬁt
politically divided Haryana into two
parts ?

(A) 1805
(B) 1810
(C) 1815
(D) 1800
(E) Not attempted

T

R
EE

51. Mixing of unwanted substance with
water is called

(A) Sound pollution
(B) Water pollution
" (C) Nuclear pollution
(D) Soil pollution
(E) Not attempted

52. When did Mauryan Empire begin ?

(A) 323 BC
(B) 322 BC

S

i ik

() 289 BC s
(D) 326 BC

(E) Not attempted

cG - CG23

48, C 15=3.888, ET’F‘WW
codl
(A) 5.60

AE) 1.2933
(E) FwnfEa

49. uﬁD-4aﬁtcovER=63,??f

TS5
BASIS = 7
F My

LAy 50
(C) 55

(E)

s0. fafw T 3 TeEE @ w R H T
T 81w # =te T

\_A) 1805
(B) 1810
(C) 1815

(D) 1800
(E) TSt
51. W& % |1Y FEiod ggrd # fiemn
FEAT 2
(A) &t g
(AB] e S
(C) b ¥eu™

(D) el 553
(E) 3t

(B) 7.80
(D) 13.97

(B) 54
(D) 49

52. W4 AT %9 IE E; 7
LAA) 323 BC
(B) 322 BC
(C) 289 BC  »
(D) 326 BC =
(E) e

-12-
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" (B) Kisan fair

. Which of the following is the fastest

The most widespread form of

adwiertlsing and is the favourite of the
Indian rural maggeg

(A) Magic shows

(B) Wall Painting

(C) Folk media

(D) None of the above
(E] Not attempted

In Haryana, this famous fair of
Karnal is held on every September
(A) Gopal Mochan fair

(C) Gangor fair
(D) Mango fair
(E) Not attempted

Find the average of all prime numbers
between 30 and 50.

(A) 49.8 (B) 39.8

(C) 38.8 (D) 59.8

(E) Not attempted

memory in the memory hierarchy ?
(A) Primary memory
(B) Secondary memory
(C) Cache memory

(D) Tertiary memory
(E) Not attempted

iI’ way ﬂf Eaﬂ'ﬁng‘
g are unre:liablﬂ, as
ded upon the
So the Income

depends upon the
So, the Income level
most of themn are depPer

seasons and agrl
levels cannot be & fixed one:

(&) Lifestyle

(B) Socifﬂulturﬂl Background
(C) Economy

D} All the above

[E) Not attempted

=13~
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53. Tasi9a =1 99 =N9F ¥9 3 YRg H
qrefioT a1 1 TEET 2
(A) 9T & T ;
) Tuftr ot
(C) e Hifen
& (D) IR A A A T
" (E) st

54. gfmn § s & 98 Sieg don wied
fireat & emran

[=]=k

(A) 7T HieE Her
(B) fepam #em
) TR B
wf;]:mrlﬂﬁrﬁ
(E) 3Tsrnfér
55. 30 ¥ 50 % &= N wfl v @S, -
&1 3Gd 714 i 2t EW‘ ﬁ{_ﬁé
(A) 49.8 (B) 39.8\" R
(C) 38.8 (D) 59.8 19
(E)
56, frefafiga § & wiA-d FH) vargssn §
e o At 2 7
(A) iR B
(B) Tehett AUl
LAC) 31 TEr
(D) et HAK
(E) aToramfaa
s57. 7o "R § o &war B
Ha-mre i ivd wed ITh A 375 &
aftei w ff s §) o ' sfvaaa
% it 3 arferme Hrew 3R FH w Ff

2| ara; ama ww FfvEa & & v 2
(&) Sfardeh
AB) TS -HiEpiaeh TV

(C) Irefegarean

(D) I =t

(E)
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S8. Which among the following districts
of Haryana is not drained by Yamuna
river ?

(A) Hisar (B) Panipat
(C) Yamuna Nagar (D) Sonipat
(E) Not attempted

59. A and B together can complete a piece of
work in 4 days, if A alone can complete
the same work in12 days. How many
days can B alone complete that work ?
(A) 7 days (B) 6 days
(C) 5 days (D) 8 days
(E) Not attempted

60. Which of the following diagram
correctly represents Elephants,
! Wolves, Animals ?

By
(B)
170

(E) Not attempted

61. What value will replace the question
mark in the following equation ?

1 1 1 2
= o 2-=13—
42+36+?+ 3 5

1 32

3

i D) None of these
© 1335 D)

(E) Not attempted

1-14_
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58. ﬁﬂﬁ-‘iﬁﬁﬁﬂgﬂmﬂﬂ%?ﬁq-mm

) T (B) T
(©) TGN TR (D) WA
(E) T

59. Aaﬂtaﬁmﬂﬁwaﬁ‘*ﬁﬁﬁm
| af2 A areal 36 T H 12 fBl # =W
W%,?ﬁﬂmﬁﬁﬂﬂﬂaﬂmﬁ

feft # o w1 8 7 ﬂzgf:f:f
(a) 7 T Lerefa “hz
() s fe (D) 8 fe

(E)

60. Frafufiaa 3 & @m-a1 s wefl, A,
STail ) od at A emiar @ 7

" @

I
& E &)

(E) Twanféa

61. Prffan @t § Fe-a e v

Toga & ®=@ W M 7

Lol 1 2
4=4+3—+7+2—=13=
2+ 6 3 5

1 2
(U S R E

3
(©) 1875
(E) 3rvanfad

(D) ¥ ¥ ¢ 7
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. This sports Person from Haryana was

., What is Solar Eclipse ?

India is the largest Country in
the World (in terms of area).
(A) 7 (B) 9

- (C) S (D) 8

Mughal empire.

nt.:.lm.l.nB.tEd for the Dronacharya Award
{LletI:In'E C&tegﬁry] in recognition of his
contribution tq the sport of wrestling
in 2022

(A) Raj Singh Chhikkara
(B) Ravi Kumar Dahiya
(C) Vinod Kumar Dahiya
(D) Vijendra Kumar

(E) Not attempted

(A) When Earth comes in between
Moon and Sun

(B) When Sun comes in between
Earth and Moon

(C) When Sun Rays do not reach Earth

(D) When the Moon comes in between
Earth and Sun

(E) Not attempted

(E) Not attempted

Battle of Karnal was fought between
and Muhammad Shah of

(A) Lord Warning

(B) Nadir Shah

(C) Sadashiv Rao Bhau

(D) Siraj-ud-daula

[E) Not attempted

NDC full form is

(A) National Defenc® Cﬂursi
(B) National Directo™ Cﬂ:zge
(C) National Directo™y e

%5
PE Y
EA5:

65, FEAEHIE

e
D) National Defence Colleg
(E) Not attempted
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62. e % 39 faemdt # 2022 F et
& Wl § I AMEH 2q ZvEd Ere
- (IS <13H Hait) & ifea fa &

(4) T fie fowera
(B) T o e
(D) faig Fwm
(E) rvanfa
63. gimEwFIR ?
(A) & =g 3R gF % " g=h o =
(B) <& weeft 3R =z % of= g 30 WY

! g%?tcmﬂ@ﬁ%ﬁiqﬁwqﬁﬁ G

ADT < et o g 3 e < am
(E) rwafém

64. Y4 fawa =1 T3 (H§FFT F
wed 1) W B

7 (B) 9
1% (C) 5 D) 8 :

3flt gre W
% YEWE B % o= ST T |
(A) WIS =T
\_{B) Tfex e
(C) TEIRE T WS
(D) Rr-3g-ge
(E) srarfaa
66. NDC @1 faeqa ¥9 2
A] A e W
(B) Yymer sraRdl Hw
(C) Avme srataedt wict
(D) e f3d e
(E) Irwafim
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67. Pehowa mela is held in which among | 67. gt el . :

the following district of Haryana ? foret # w1
33 (A) Kurukshetra P W{fy-d o L,(Kl W

(B) Karnal ot ":,;[ ' (B) T

[E%
49 (C) Panipat Y 3:5% ot (C) "I
e £
rﬁ.f "'T,.Ff' (D) Sirsa ﬁf}é . (D) feran
7 5 v
3= 22 (E) Not attempted cL %%;I (E) FrwafEa
. i wfufy =1 ASE
68. Who was the Chairman of Steering 68. wfu | I HeTEH £l
Sg“‘ 3'° Committee of Constituent Assembly ? HF 7
; g, 17 (A) Sardar Vallabhbai Patel (A) TER TeAVETs T

(B) K. M. Munshi o B (B) %. wd. Gt
£1- 355" (C) Dr. B. R. Ambedkar () & . 3. g
a*ﬁ:fm D) Dr. Rajendra PTESE% ‘ m) (2 J.’S l/([ﬁi_ﬁ T@ﬁm
ST 2 p
::;5; 2 iﬂ,}_}jﬂ (E) Not attempted T (E) SToETEE
P _ :

69. Find the sum of all 2 digit number 60. Tt 2 3iwi Y I HE@NHT H AT T@ H
2,15, 1%, - Vivisible by 3. o 53R Azdfomy 2
41 12,51 18,21 .00, 99, *”r;f-{f:lg:,- 12, 51, 18, 21,....., 99. =yl

® (A) 1678 (B) 1458 " % (A) 1678 (B) 14587

33-3 &
(154 :g; 1669 mm] 12?5‘54{“_%? (C) 1669 (D) 1665
T ) Not attempt 4@y 0 1S (E) AT
[ 1o 27 4s __
% 33 70, ﬂv:rﬂrkermajrclaijs.flﬁfcreachm 70. U&H HH=l ¢l d I w0 9 iy fh
:L}H %J which he tra:velshyt'fa.n and Rs. 5 for 15 %, 30 el B A T w0 vy el
L% .;ﬁ;eachm which he drives his own car. SE T %I?ﬁ
.!",F-I' If in one week he claimed Rs. 500 for I Tsh FCrE §
?! travelling 80 km, how many kms he Eﬂﬁmﬁiﬂﬂmﬂﬁ%mﬁ 500 =1 g
%}ﬂ travels by Taxi ? ferm o e et gra Toneel amn iy 2
) (A) 20 km at16d  eg (A) 20 fft g
1 . i goy! For§
Eﬁ/jf (B) 30 km 3 gffgj f o B) 30fFf o },:0
©om 3 O
m, . b
%% (D) 40 km Ix (D) 40 el e
(E) Not attempted | 53¢ (E) e %: f"
€8
B r___-:-"""i-“-'- -ILE_
1045

—
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1. Whi
1 ch among the following is the highest
Wi ﬂtt Haryana State Govt. for the
outstanding players of Haryana ?
(A) Bhim Awarq ‘
(B) Rani Laxmi Baj Award
(C) Guru Vashisht Award
(D) Maharana Pratap Award
(E) Not attempted

2. Inthe mesosphere, the temperature will
(A) Decrease at first and then increase
(B) Decrease
(C) Stay the same as in the Stratosphere
(D) Increase |
(E) Not attempted

3. A deep narrow valley with steep sides
is called a
(A) Gorge
(B) Delta
(C) V-shaped valley
(D) All the above
(E}) Not attempted

4. In each of the following, find the
figure from the answer set which
will continue the series given in the
problem set.

i IE————
——— e
1 2 3 & .0
e T— S S
jalj=—" (B) | =—
g———— I
e e
— —
0 l— D |=
—_— —

(E) Not attempted
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71. EfEmm % Iepw faenfsal &g sfamn aw=
TR i AR § Faw R eferad W
FBA-TE 7

Lty i 7S
(B) Tt et &g T
(C) T® afire e
(D) WETION Yarq 37ars
(E) Frwartya

72. HEHSH H, d9HH
(A) TEat g Rt @
(B) wm
g (C) SIS 3 T & R
i )
7 () swafE
73. O Tl g Ut o Ty @dl T
B, wEed 2l
LAy Titet
(B) &
(C) V-3TRI Sl =T
(D) Ja1 |l
(E) aTwanfem

74, Frfefea @ @ o smag=a 4 8 e
3fee st gwe gy= | & T JEen @i
Erikeen i

A |== (B) |
(AC) | == oy ==
(E) 3rswnfea
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75.

76.

T7.

78.

79.

Which of the following numbers
divisible by 3 ?

(A) 5967013

(C) 541326

(E) Not attempted

(B) 1111
(D) None of these

In March 2023, Haryana became first
State in India to achieve 100%

(A) Adult education

(B) Electrified railway network
(C) Solar installation

(D) Rural electrification

(E) Not attempted

opg

i

Ol

What is the reason behind red soil
developing a reddish colour ?

(A) The presence of potash and magnesia
(B) Due to the presence of iron

(C) Over Grazing

(D) None of these

(E) Not attempted

Which error detection code uses a
single parity bit to detect errors ?

(A) Hamming code

(B) Parity check

(C) Cyclical Redundancy Check (CRC)
(D) All of the above

(E) Not attempted

An aeroplane flies along the four
sides of a square at the speeds of
200, 400, 600 and 800 km/hr.
Find the average speed of the plane
around the field.

(A) 384 km/hr
(C) 564 km/hr
(E) Not attempted

(B) 444 km/hr
(D) 765 km/hr

CG - CG23

s, Frfefiaa § & FA-4 wE 3y A ? 7
(B) 1111~

[D}sﬁ@?ﬁéqﬁ

() 5967013 *

(AC) 541326
(E) Fraed

76. TE 2023 #, gfmon &9 # 100%
T I Tl Jaen Usd =4

(A) TEEH FIEHAT
(B Torgaga A AT -
(C) ER EE
\/mmmﬁ@?ﬂw
(E) STwaria

77. @ GE % T U1 B TR
(A) Ter i wffirn el
\_4B) wirg i ufeufa
(C) e <TE
(D) T & H15 T
(E) FwEnfa

78. FH-H1 T fEIHH Hre W H1 qal T
¥ foru finrer A fore =1 I AT R 7
(a) 2fm wig
By A =%
(C) uRfFewa fETER we (Hismeh)
(D) 9t aufi
(E) 3rrnfaa

U FETS WEM 200, 400, 600 3K
800 km /hr =l TIfedi ¥ T i < =W
SIS & H-E 31 B | & % =W
& 3T S e At s i s w
“_A%) 384 km/hr  (B) 444 km/hr
(C) 564 km/hr
(E) srsmnfi

§

3

e,

(D) 765 km/hr
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., This f; -
D 4™MOUs monument of Buria was | 80. it 1 F& g e wEeEl g

s;ﬂ;;? j_hghjﬂh&n 's reign in Ambala el % e foer # =warn T
aryana Rt A~

(A) Peacock throne (A)

(B) Raaj Maha ) TR

(C) Rang Mahgy LLe) T1wEs

(D) Red fort (D) T HIE x

(E) Not attempted (E) raafee

Classification of Rural Markets is

81. uTHiv ATART T iR @

(A) Industrial Market (A) 3tenfies TR

(B) Services Market (B) T SR

(C) Consumer Market mxE (C) IqN eI TSI

(D) All the above ) 3o wwl

(E) Not attempted (E) 3w

In each of the following find the . Frafafea # 2 7@ smag=m ¥ & R
figure from the answer set which q’%qa‘tmﬂﬂaaﬁ RIS ’I@Fn 1
will continue the series given in the St T 21

LL"‘I"I le,

T 4 S

e e O o o

1 2 3 4 S

(A) Lx

(A) L'
L. \—(B) L’

B Bl
(B) “éréﬁ

C)] — X
C)] —

(D) 4.
(D) /

(E) 3rrnfia
[E) Not attempted
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83. Where is the Niagara river found ?
(A) India
(B) Australia %E]E
o -E

(C) North-America
(D) Japan
(E) Not attempted

Rewari Railway Heritage Museum
of Haryana had world's oldest still
functional steam locomotive known as

84.

(A) Himalayan Queen

(B) Fairy Queen '
(C) Iron Lady

(D) Shimla Kalka Express

(E) Not attempted

Who was the Chairman of Drafting
Committee of Constituent Assembly ?

(A) Sardar Vallabhbai Patel
(B) K. M. Munshi
(C) Dr. B. R. Ambedkar

85.

(D) Dr. Rajendra Prasad
(E) Not attempted

86. Complete the following Analogy.

Vitamin A : Retinol :: Vitamin C: ___
(A) Calciterol

(B) Niacin

(C) Tocopherol

(D) Ascorbic acid

(E) Not attempted

ey T o T, SR

83. TN T4 FEl & 7
(A) WRd
(B) Freierat
Lo T~ IR
(D) STH
(E) TSméd

R 3 YTl e e wnErer H
ﬁaaﬂgcmmtﬁw@n@a%ﬁ&ﬁ
2, o %Ed & |

(A) TemrerEa =

{_4B) wl F=H

(C) I o

(D) Rt ST TEE

(E) 3rSmad

84.

gfyum @ < yEw afifa %1 A=
A U1 ?
oLk (A) mﬁﬂﬁﬁﬁﬁ
g% (B) F. W
LAC) T, di. AR, AT
(D) =T. TNig 7]
(E) rsenfad

86. TrfeRaa wwewar qui dhifs |
WA:WE[ :: T ¢
(A) Hedeare
(B) formfim
(C) Trhrktret
(D) UEhifdeh 3t

85.

(E) st

-20-

—


Guest
Rectangle


7. Nabh Chhor is the leading evening
newspaper published from
district of Haryana.
(A) Palwal
(B) Hisar
(C) Sonipat
(D) Rohtak
(E) Not attempted

A sum of Rs. 800 amounts to Rs. 920
in 3 years at simple interest. If the
interest rate is increased by 3%, it
would amount to how much ?

(A) 995 (B) 997

(C) 998 (D) 992

(E) Not attempted

8.

Complete the following Analogy.
Ayurveda : Medicine :: Dhanurveda :

(A) Music
(B) Acting

[=1544 ]
(C) Archery ﬁffﬁ
(D) None of the above Ot
(E) Not attempted :

0. is the most important and

widespread category, it covers 40% of
the land area. In fact the entire Northern

plains are made up of these soils.
(A) Red soil

(B) Laterite soil

(C) Alluvial soil

(D) Black soil

(E) Not attempted

21-
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g7. MaE, gamms__ faw
TR Bl Al ol HeN JarEnTT 2 |

REER
B) Feam

(C) |Hfigd
D) e
(E) 3TsmiEa

%. 800 &I U Ul 3 94 # Arun =
W F. 920 & It & | I == W 3%
| Wl 2, d1 36kl ufy et Bt 7 @

(A) 995 (B) 997 e
(C) 998 BT 992 il -4
(E) 3rwantea
89. fr=ferfiga gweyar pof ifs
AT : 3y DECAF
*(A) i
(B) Hhra
LAC) 3=
(D) IwrEd § & #1E 7
(E) TSR
90. __ wdiftss wgequl 3t gge 2oft 2,
$Eh I 40% Y-8 I 81 9w
qu Iul Agm w6l e A a R |
(A) =TTl &1
(B) weTge yal
(AC) TG e
(D) et Ter
(E) srwanfe
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English Language e
. : S T EEbiy
91. How many tense ar¢ there 111 English | 96. s i forg
(A) 2 B 3 AT
(C) 8 (D) 4 (B) W
(E) Not attempted () T
(D)
92. Complete the following Analogy- (E)
Before : After & Enjoy : ——
(A) Sad 97. d o, €, , § 37fe T ISR M R
(B) Happy ) T
Lie) Suffer (B) -;I%fm
(D) Pain i c
(E) Not attempted %}”'Ej :D; =
g3, How many types of nouns are there (E) S PRIEG]
in English grammar ?
Bl ’[1;} ;gm & 1;} 4 og. cwfmaTy fwh R 7
uiaed -t (C) 2 AD) 5 () T
< (E) Not attempted |_AB) i GEd
_ (C) I
o e o i
: = Qo0
(A) Calf (E) sTwRféE
(B) Pup 99, T iiawm ¥ frad WG R 7
|_A4C) Joey @A) 3 : B) 4
(D) Cub
(E) Not attempted Le) 2 D) 1
(E) 3w
5. The past participle form of th
Draw’ of theverb | 100, et g fadt Y Fw T TE
(A) Drew R ¥ e 3 w9 g R T
(B) Draw F¥E \_{A) =¥ 1903
e
(C) Drawing @ (B) 94 1906
Drawn (C) =¥ 1909
(E) Not attempted (D) I 1900
| (E) e
B -
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